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K1-1

[image: ]
Recycling ratio = 1.09± 0.04 (R 5/R 1)
Recuperation = 0.8± 0.1 % (R4/N)
K1-2
[image: ]Recycling ratio = 1.02± 0.04 (R 5/R 1)
Recuperation = 0.7± 0.1 % (R4/N)
K1-3
[image: ]
Recycling ratio = 1.14± 0.04 (R 5/R 1)
Recuperation = 0.9± 0.1 % (R4/N)






K1-4
[image: ]
Recycling ratio = 1.05± 0.03 (R 5/R 1)
Recuperation = 0.9± 0.1 % (R4/N)
K1-5[image: ]Recycling ratio = 1.01± 0.03 (R 5/R 1)
Recuperation = 1.1± 0.1 % (R4/N)
K2-1[image: ]Recycling ratio = 1.00± 0.03 (R 5/R 1)
Recuperation = 0.4± 0.0 % (R4/N)


K2-2[image: ]
Recycling ratio = 1.13± 0.04 (R 5/R 1)
Recuperation = 0.7± 0.0 % (R4/N)
K2-3
[image: ]Recycling ratio = 1.04± 0.03 (R 5/R 1)
Recuperation = 0.6± 0.0 % (R4/N)
K2-4
[image: ]Recycling ratio = 1.08± 0.04 (R 5/R 1)
Recuperation = 0.9± 0.1 % (R4/N)
K2-5
[image: ]Recycling ratio = 1.05± 0.03 (R 5/R 1)
Recuperation = 0.4± 0.0 % (R4/N)
K3-1[image: ]
Recycling ratio = 1.08± 0.04 (R 5/R 1)
Recuperation = 0.9± 0.1 % (R4/N)
K3-2[image: ]Recycling ratio = 0.97± 0.03 (R 5/R 1)
Recuperation = 1.0± 0.1 % (R4/N)
K3-3
[image: ]
Recycling ratio = 1.07± 0.04 (R 5/R 1)
Recuperation = 1.2± 0.1 % (R4/N)
K3-4[image: ]Recycling ratio = 1.02± 0.04 (R 5/R 1)
Recuperation = 0.9± 0.1 % (R4/N)
K3-5
[image: ]
Recycling ratio = 1.05± 0.04 (R 5/R 1)
Recuperation = 0.6± 0.1 % (R4/N)
K4-1[image: ]Recycling ratio = 1.02± 0.03 (R 5/R 1)
Recuperation = 0.4± 0.0 % (R4/N)
K4-2[image: ]Recycling ratio = 0.99± 0.03 (R 5/R 1)
Recuperation = 0.4± 0.0 % (R4/N)
K4-3[image: ]Recycling ratio = 1.06± 0.03 (R 5/R 1)
Recuperation = 0.4± 0.0 % (R4/N)
K4-4[image: ]
Recycling ratio = 1.04± 0.03 (R 5/R 1)
Recuperation = 0.4± 0.0 % (R4/N)
K4-5[image: ]Recycling ratio = 1.01± 0.03 (R 5/R 1)
Recuperation = 0.5± 0.0 % (R4/N)
K5-1[image: ]Recycling ratio = 1.05± 0.04 (R 5/R 1)
Recuperation = 0.2± 0.0 % (R4/N)
K5-2[image: ]Recycling ratio = 1.05± 0.04 (R 5/R 1)
Recuperation = 0.3± 0.0 % (R4/N)
K5-3[image: ]Recycling ratio = 1.07± 0.04 (R 5/R 1)
Recuperation = 0.2± 0.0 % (R4/N)
K5-4[image: ]Recycling ratio = 0.98± 0.03 (R 5/R 1)
Recuperation = 0.4±  0.0 %  (R4/N)
K5-5[image: ]Recycling ratio = 1.00± 0.04 (R 5/R 1)
Recuperation = 0.2± 0.0 % (R4/N)
K6-1
[image: ]
Recycling ratio = 1.13± 0.04 (R 5/R 1)
Recuperation = 0.6± 0.0 % (R4/N)
K6-2[image: ]Recycling ratio = 1.00± 0.03 (R 5/R 1)
Recuperation = 0.3± 0.0 % (R4/N)
K6-3[image: ]Recycling ratio = 1.08± 0.03 (R 5/R 1)
Recuperation = 0.7± 0.0 %  (R4/N)
K6-4[image: ]Recycling ratio = 1.04± 0.03 (R 5/R 1)
Recuperation = 0.4± 0.0 % (R4/N)
K6-5[image: ]Recycling ratio = 1.01± 0.03 (R 5/R 1)
Recuperation = 0.3± 0.0 % (R4/N)
K7-1[image: ]Recycling ratio = 1.00± 0.04 (R 5/R 1)
Recuperation = 295.9±627.1 % (R4/N)
K7-2[image: ]Recycling ratio = 0.51± 0.02 (R 5/R 1)
Recuperation = 12.6± 0.5 % (R4/N)
K7-3[image: ]Recycling ratio = 1.01± 0.04 (R 5/R 1)
Recuperation = 1.7± 0.1 % (R4/N)
K7-4
 [image: ]
Recycling ratio = 1.11± 0.04 (R 5/R 1)
Recuperation = 0.8± 0.1 % (R4/N)
K7-5
[image: ]
Recycling ratio = 0.89± 0.04 (R 5/R 1)
Recuperation = 0.5± 0.1 % (R4/N)
K7-6
[image: ]
Recycling ratio = 1.09± 0.04 (R 5/R 1)
Recuperation = 1.0± 0.1 % (R4/N)
K7-7[image: ]Recycling ratio = 1.04± 0.04 (R 5/R 1)
Recuperation = 0.2± 0.1 % (R4/N)
K8-1
[image: ]
Recycling ratio = 0.90± 0.03 (R 5/R 1)
Recuperation = -0.3± 0.0 %  (R4/N)
K8-2[image: ]Recycling ratio = 1.19± 0.04 (R 5/R 1)
Recuperation = 0.6± 0.1 % (R4/N)
K8-3[image: ]Recycling ratio = 0.43± 0.02 (R 5/R 1)
Recuperation = -3.1± -0.1 % (R4/N)
K8-4[image: ]Recycling ratio = 0.92± 0.04 (R 5/R 1
Recuperation = 4.1± 0.2 % (R4/N)
K8-5[image: ]Recycling ratio = 0.97± 0.04 (R 5/R 1)
Recuperation =  0.1± 0.0 % (R4/N)
K9-1[image: ]Recycling ratio = 2.03± 0.10 (R 5/R 1)
Recuperation = 1.5± 0.1 % (R4/N)
K9-2[image: ]Recycling ratio = 0.42± 0.02 (R 5/R 1)
Recuperation = 3.5± 0.2 % (R4/N)
K9-3[image: ]Recycling ratio = 0.67± 0.03 (R 5/R 1)
Recuperation = -1.4± -0.1 %  (R4/N)
K9-4[image: ]Recycling ratio = 0.91± 0.03 (R 5/R 1)
Recuperation = 0.3±  0.1 %  (R4/N)
K9-5[image: ]Recycling ratio = 0.81± 0.03 (R 5/R 1)
Recuperation = 0.3± 0.0 % (R4/N)
K10-1[image: ]Recycling ratio = 1.05± 0.04 (R 5/R 1)
Recuperation = 1.9± 0.1 % (R4/N)
K10-2
[image: ]Recycling ratio = 1.14± 0.04 (R 5/R 1)
Recuperation = -1.9± -0.1 %  (R4/N)
K10-3[image: ]Recycling ratio = 0.81± 0.03 (R 5/R 1)
Recuperation = 0.2± 0.1 % (R4/N)
K10-4[image: ]Recycling ratio = 0.97± 0.03 (R 5/R 1)
Recuperation = -0.1± 0.0 % (R4/N)
K10-5[image: ]Recycling ratio = 1.04± 0.04 (R 5/R 1)
Recuperation = -1.2± -0.1 % (R4/N)
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